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(i) 8,000 units

() 6000 it

i) 10,000 units.

 (b) From the following information cafestate (1
Material Cost Variance and (if) Material Price

160 wnits
Ibs.
Rs 2
Re. 250
250 ths.

the following detaily relating to the Accout
X Ltd. prepare Cash Flow Statement :
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(iif) Rs.50,000 was paid towards income |

during the yedr,

(iv) Building under construction wis not s ah
to any depreciation. Prepare Cush
Statement.

(b) Explain the significance and limitations of
aalysis (

5. (a) The following extract of costing inform
relates to :_:um‘m_ndity ‘A for the year eni
“31-03-2023 ¢
Particulars
Purchase of raw material
Direct Wages

Rent, rates and Insurance

Carriage lnwaord
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(b What are the relevant considerations involv
the cost benefit analysis ol make or huy deci

6. {a) The following particulars are taken
records of 4 company cngaged in
two products A and B from & certuin mate

Product A
(per umit] Rs.
Wiwerial Costifts. S0 per Kgg) | 500

Total fixed overheads : Rs. 10,00,000

Comnient on the profitability of each i
when :
(i} Total sale in value is limited.

(i) Raw materials is in short supply.




(i) Sales required

(il Profit when 20,01
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2. Attempt all guestions. Choice is available within each
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3. Use of simple calculator and preseni value tables is

permiticd.
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(d) Suppose ¥OU inherit @ piece of jand whose
market value { years from now is estimated to b
Vi) = sppoe’™ 1 the prevailing rate of interest

rgmim.-mnm':_:; at 10%, when will it be aptimal

time for you 10 sell the tand?

Dption 11 Rs
b 5 equal annual inetallments of Rs:

. the first being paid immediasely. Which

of the two payments will be more yatuable if the
rate of interest e 10% pat

4 d 15 ] as it were ji g A
5, pueapt sy one P2 e is Hayin it perfect competitive jng
for all values o’ ek wfl Il perfectly slistic u
quantits -
i 7 Wit

.. stry (that
emand c"ﬂ"i:j,

clow is 3 function defined N
the equilibrium gt
ce

(a) Given b
*

"'_!ﬂ

E‘ﬂ_-f:itatl

Find :
{iy Find {he stationary paiuu-of th
and classify them.
erse funetion ol in an inl v

e functia

(ii) 1 g i a0 v
1, then find el
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‘4. Altempt any three parts: (9%3)

(1) The Leonticf system for a 2-gector economy is
given as follows:

Sector | uses as input 0.2 units of its own vutput
and 0.4 units of output of sector 2 to produce a
unit of its output while Sector 2 uses 0.35 units of
its awn output and 0.5 units of the output of sector
1 to produce a unit of its output.

(i) Formulate the input coefficient matrix,

{ii) If the initial final demands of the two
sectors are by and by, Find the change in
the output of the two sectors if final
demand of sector | incréases by one unit
-and that of sector 2 increases by two units,

(b (i) If a and b are n-vectors, prave the triangle
inequality.

lla+ bl < [lali + [Ibll

(i} Defing involutive and orthogonal matrices
What is the determinant value of an involutive
matrix? Also determine the determinant valy
of an orthogonal matrix?
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5. Attempt any two parts ; (4x2)

(8) The Marginal cost function'is given by 2+3,/5 4._55,
Where g is the output. Find the total cost fanction

when the total cost is 30 for | unit of output, Also
write down the Average cost function,

(b} Find the area bounded by the graph fix) = K—]'

the x-axis and the lines x=-2and x=_],

Evaluy; -d—_r : dx
(e} Evaluite 3k _hm .

(500)
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Duration ; 3 Hours Masimum Marks 75

In;tg!cgiunl far Candidates

1. Write your Roll No, on the 10p immediately on reseipl
of this guestion paper.

(]

Anempl five Questinns in all

1. Question no. 1 s compulsory.

1. Write Short Notes on the following (any three) :
{a=3=18)
{a) Positive and Mormative Eéotiomics

|} Asymmetric information and moral Hazard
(e)WARFE

(d) Sabelion Paint

(LS
H

What is Production possibilities Curve? Distinguish
hetween ‘the fipvement from @ paint inside o

P.T.53.
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T

1

2 =

production possibility eurve 1o 4 Mot on & produciion
possibility curve” yng ‘movement from ong production
Possibility curve g another producrion possibility cuprye:
Explain how Production possibility curye a0lves 1he
three central Problems of an cconomy, (18]}

Explain the price effect for Rormal, inferior ang giflin
goods using Slutsky Analysis diugrummmjca]iy with
both incame and substitution effect. (1)

Distinguish Between Risk ang Un:ennjnt}r. What does
1 mean fo *ay that a person is risk #verse? Exnlain
why are some people likely tp pe risk averse whije
others are rigk loverg? Why is yp insurance company
likely 1o behave as jf " were risk neutrq) even if ips
MADRECrs dre rigk . averse individyalg? (18}

Discuss the ders vition of the longryn AvVerape cost
curve: (LAC) How is it related to 1he shortrun dvetnge
COBl etrve and shortrn marginal cost cupyes (SMCs)?
Why is it calleg in envelope cyrvar (18]

i) Usge soquants and IS0CONE eurves 1o explain how
does s producer minimize hiy cos of production
for 8 piven CREL- L (L]

(1) Explain FEIUrns to scaje USING 1soquangs
diugrﬂmmﬂticalfy ()

{500)
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1 P m'-..-ra'qgfﬁﬁm:mmmminp is not mmamﬂiy
feasible eriterion’. Do you agree with the sbove
statement? Illnstrate.

{b) A finance company makes an offer
sum of R¢ 15000/ and then receive
Rs 3960/~ per annum perpetually. Shoul
be accepted if the Tale of interest is 12% per
annum Will the deeision change if the rate of
interest is 11% per annum? !

years of ';lfg-. 'f_"i‘r"rnh‘dhuﬁ.ﬁf_ o

“nerease in working capital by s 30,000, Following
information is available in respeet of the machine:

inicrease by 10,000 units per

yehrs.

Selling price: Rs 30/~ per unit
Variable Cost: Rs 20/~ per unit

Fixed Cost Rs 4.00,000 per ansum




(b) There are different capital budgeting techniques
available for evatuation and sclection of a proposal.
Critically evatuate the traditional echniques which
can be used by 2 firl,

4 (n) The following is the capitsl structure of ABC
Limited.

presently, debenturts are being traded at 92%

_ and equity shares at Rs.
14 per share. Find out the WACC Based on ook
value weights and market value Wweighis.

b What is meant by cost of cupital? Explain
factors affecting (he cost of capital- (15

5. (a) Acompany cutrently has w;cmuu:m-areq i
outstanding with a market price of Rs, 50 1
share. 1t also has Rs. 4 croves in 1 2% ponds. T
company 18 considering o Rs. 3 grares expanst
program that it can finanee throught
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(i) Value of the firms U and L using Net Income
(NI) Approach

(i) Value of each firm using Net Cperating
Income (NOI) Approach

(i) Overall cost of capital for each firm

(1v) Which of these firms has an optimal cu_;ﬂiul
structure using NOI approach and why?

(b) () A firm which earns Rs, 5 per share, is
capitalized at 10% and has a return on
investment of 12%. Using the Walter's Model,
determine the optimum dividend payout ratio
and the price of the share at this payout.

It currently has 1,00,000 shares selling at Rs.
100 cach. The firm is comtemplating the
declaration of Rs. 5-as-a dividend sl the end
af the current Fnancial year, which has jusg
begun, Assuming no taxes, what will be the
price of the share of the firm s per MM
approach, if the dividend 18 not declared? If
dividend is paid? {10,




e

7509 #
(i) ‘-?-'urh-in—pmgr:ss. (a5sume 50% gomplenion
§ wll nl.emn.ms} will

giage 1M regpect @
in's -prn:luc'r_iu I

approXimate 1o half-a-mon

(iv) Finished goods pernain in the worEHOUSE: on
an Averoge for 4 month.

(v} Supp
and debtors are

cash cules AT

© reguired 19

you ar
apitak

prepare @ satement showing w0 cking ©
f:.quir-:mmts.
rking capl

grmining the wo
(14,

{he factors det

(b) Explain
v of a fum:

reguiremen
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RS 12 per share

(i) Rs. 10 Preferopee Shares sage
maturity perioq 15 yoarvangll
of 3, sale prive Rs. 10,




i) The Pereentage increase i EPs

AR The Degree af financiy) leverage §

1,060,000 ang 1,220,000 units.

{iii} The Operating Iaumgg at 1,00,000
' 120,000 unitg

LT
.

(iv) Comment on the belaviour of Operating

and financia) leverage in relation 1 increage

in Production from |

00,000 and 1,240,009
nity,

Cavailable in
en will thig,

(b)) The Tollowing dgrs relate 1o o firms. Lew:m]_

(L) and Unleyered (U) that belong

! to the same
rigk

class. You gre required 1o:
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6. {a) ZN Lid id planning an expansion programme which
il xequire Rs: 30-Grare and ¢k be funded thigigh

~ one of the three options.

(i} Issue further equity shares of Re. 100 each

al par.
(i) Raise a 15% loan

(i) lasue 12% preference shares:
i)

N . 'Ifjs,g present pald up capital 15 Rs. &ﬂ crores and
‘the annual EBIT is Rs. 12 crores. The tax rate:
~may be taken 50%. After the expansion plan is
adopted, the EBIT is expected to be Rs. 15 crores.
Calculste the EPS under all the three financing
options and indicate which alternative give highest
return o the equity sharcholders. Alse, determine
tﬁtinﬁiﬂ'ﬂmn point hetween the mm
capital and the debt financing.
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Jividual. His pet ineome

nder regular % regime (8

culate after claiming o few
sapdard Deductions

e sections S0C and 50D}




I---r
r .
‘ (1v)  Tax treatment oF Short-term Capital Gain,
\ {v) D'W% “Revenue Expenditure’ and
' ‘Capital Expeaditure’ in the context of PGEP.
4

| ‘ (vi) Ezﬂ%hm:ﬁc Research.
| J : (6+3=18)
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(b} Elaborate the concept of GDP Deflator. (51

{a) How the iterest rate s determined as being
determmed by the conditson that the supply of
central bank money be equal to the demand for

ceniral bank money. (9

(b} How central bank controls the money supply

throuph its gpen markel operations? (6}

Explain that the [8 - LM model characterizes the
implications of equilibrium in both the goods and the
financial markets, What is the impael of expansionary
fiscal policy on the economy's output and interest rmle?

{15}

{a) Utilizing wage-setting and price-setting relationship,
clucidaie the equilibriom in the labor market.
Demaonstrate the connection between the natural
rate of unemplovment, the natoral rate of

employment, and the patural ontput level. (10}

7045 3

(b) Describie the cancept of the sacrifice ratio in the

context of achieving disinflation. {5}

Fro;flde, u gomprehensive discussion on the
interrelationships between inflation, unemployment., and
output growth, often referred to as the three economic

relations? {15}

Discuss that the new Keynesian economics
provides a better explanation of stickiness of
wages and prices in the short run. Also using
quantity theary of money ‘examines the
links between inflation and economic growth,

(15)

Wrile short motes on any two of the following!

(i} Small menu costs and aggregate-demand

externalities

P.T.O
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{if) Wage r'udcxazmn

(i} Luegs Critigye

(100

(7.5%25y

3)
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Economics
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Dutation : 3 Hours Miximum Marks @ 90

Instructions for idates

1. Write your Roll Ne, on the top immediately on receiph
of this question paper.

5 Attempt all parts ol 8 particular question togethet.

3. Alempt FIVE questions in all, Question No. 1 is
compulsory.

1. Determine whether af the following assertions 18 trie
or false. Use the appropriate justifications and
dingrams 1o SUPROTt YOUT AnsWer. Attempt any Three

(i} The social cost of & mionopoly's mefficiency is
represented by deadweight loss

P.T.0.
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Name of the Course ¢ B.A. (H) Business
Economies (2023)
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Maximum Marks : 75

Instructions for Candidates

Isd

Wrile your Roll No. on the top immediately on receipt
of this question paper

Attempt all qouestions,
All questions carry equal marks.

The sub parts of a question must be done together.

‘Be Proactive' and 'Think win-win' are two important
habits, how will you incorporate these two habits in
vour life. Make appropriate assumptions to explain

YOUr ENSWEr,

BT 0



2
OR.

N " #_.
Explain the concept of Value for time and highlight
the use of TODO list and time management matrix

wﬂmmwmwm of the following

() SMART gt g

(b) Long term gouls

() 4 CF method

(@) Backwards goal seiting

(a) Explain the components. of emotional intelligence.
Also explain if possessing emotional intelligence
wimpumm in today's time

(b} Siya is in |
o e

mq.mw wﬁeﬂw o go ﬁa"% ﬂ“““"“
ar tsdﬁu a ;fnﬁ This has ?&éﬁ--’ 4

4 Youare the eldest child in the family. Your younger

brther and sise often disagree and coor oo
<onflicting situation. A an elder. explain the
importance of active listening, conflict management
and teamwork 19 handle this situation.

OR

Explain any three interpersonal skills which an
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Write shor NOEEs on umy two of the tollowing

(a) Tolerance tegt of Creative thinking

(b} Pareto Pri teiple

{€) Brain SlOrming

{100
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Statistics lor Business Economics
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{LOCF)
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i Hours

T3

1. Write your Roll No. on the top immediately on receipt of this question paper.

2. Attempt all questions.

L ]

table s allowed.

1. Aftempt any three parts:

Choice is available within each question. Use of simple calculator is permitied and statistical

(5%3=15

{a) The noise level experienced by 500 employees in a production unit has the following

distmbution:
Meoise level B-11 11-16 16-19 19-25 2540 40-65
Mo, of 90 160 1TH) 70 al 20
employees

PT.0O.
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(1} Comstruct & histogram corresponding to this frequency distribution and comment on

the shape of the distribution?

() What proportion of employees experience o nodse level less than 207

(b} Given the sample of test scores oblained by 20 students of the class below:

13 ﬁf_ﬁ‘_ﬂ

{1} Find the median, mean and 10% trimmed mean of the lest scores.
() FHow will the median and the mean change if the test score of 66 and |13 was wrongly

recorded. The correct scores are 42 and 53 respectively.

of two stocks for mine consecutive days are recorded helow:

Eﬁ]-ihl"ﬂﬁn: prices

Dayl |Dayl |Dayd4 |Day5S |Dayé |Day? |Day8 | Day®
78 76 75 74 T8 I

& |51 |57 [ |7 |%
1 .

(i) Find the coefficient of variation for each stock,

(i) If you sre a conservative investor, in which of the

(i) If the prices of stocks of ABC increuse by 50 rupees
“Ih: i5 the impact on the cocfficient of
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1,

(d) What adjustments are needed to convert a variable X into another variable Y such that

the mean of Y is same as mean of X, but varissce of Y is 4 times thal of X,

Attempt any four parts, (5 x4=20

(2} Hospital records show that 70% of patients saffening from a discase die due to that
disease. What is the probability that oot of the 15 randomly selected patients

1) 10 recover
(i) Ar least % recover
(ti} Atmost 5 dic

{b) A factory produces on un sverage 1.5 defects per 100 units of output and the number of
defects follows a poisson distribution. What & the probability that the next 600 units show

(1) less than 5 defocts:
(i} More than 135 defects

{¢) An urn contains 7 white and 3 red balls. Twe balls are drawn together, at random. from
this arn. Compute the probability that nefther of them is white. Find also the probability

of geiting onc white and one red ball Compute the expected number of white balls
drawn.

(d) The number of pages of a book in o libeary are pormally distributed with mean 178 and
standard deviation 42,

(i} Find the probuhility that the book has between 100 10 200 pages.
(ii) Find the probability that the book has stiesst 180 pages

PTG,
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ally exclusive evenis P(A)= (.26 and PiB) = 043, find

(e) IF A and B arc muty

{H P (AD
iy P (A U B
i P (AT B

v B AT B

3. Do any three parts.

() Let the pdf of X 15 given by:

"r{:):ingzx+%)' p<xsl

atherwise

dP(a< A= 3/4) and P (X= 0.5)

() Fin

mIEyY = 9x+3, find Var (Y)-

X and ¥ with joint p.d.f.

(k) Consider TWo continuous random yvariables

2
r[ﬂ___iﬁ:‘y. pex<kO cy<k
0 atherwise




5

(i) Find the value of k 5o that ft

(i) Are X and Y independent?

:' i) Find the conditional

Consider the following joint probabil
table: - p “

ty distribution of X and Y shown in the

10 15

=

z= X and Y indep

S

iy

PUX+Y) =122

T

sath ﬂlu & construction crew cannop we

webability distribution as given below:
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X P(X)

0.03
7 0.08
3 0.15
9 0.20
10 0.19
11 0.16
12 0,10
13 0.07
14 0.02

(i) Construct the cdf of the probability mass function given above and from it calculate
the the probability that no maore than ten days will be lost next summer and also the:
probability that also from & to 12 days will be lost pext summer.

[ii) If the revenue loss due o non-working days is a function of the number of these da

and is given by: R(x) = 2000 <+ 1750, Find the Expected value of the Revenue los

4, Do any five paris. (5x5=25

(a} The average heights of a random sample of 400 peeple from & city is 1,75 m, It is kno

that the heights of the population are random variables that fallow & normal distributi

with a variance of 0.16



(i) Determine the 95% confidence interval for the average height of the population.

(i) With a confidence level of 0%, what should be the minimum sample size need for

the true mean of the heights to be within 2 em of the sample mean?

{b] Internet usage for course-related work smong college students in the United States and
in India iz sfodied. The following defnils are obiained:

LS Students(X) X =17

N=149 =152
Indian Students (Y) =073

N=306 48 sy =079

Determine whether U5, stodents have Hnmﬂﬂilﬂy higher Internct use for course work
than the Indian students. Test at the .05 alpha level

{€) A random sample of size two 15 drawn from a population which consists of numbers 4,

5,6, 7 and B, Construct a sampling distribution of mean of these samples and find 1ts

expected value.

{d) A hot-tub manufaciurer advertises that with its heating cquipment, a temperature of 100°F
¢an be achieved in at most 15 min. A random sample of 49 tubs is selected, and the time
necessary 1o achieve a 1O0°F temperature 18 determined for cach tub. The sample average
time und sample standard deviation are 6.3 minand 222 min, respectively. Does this dita

casl doubt on the company's cloim?

| e 2

T.0.
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{e) According to the norms established for a reading comprehension test, eighth graders
should average §4.3 with o standard deviation of B.6. If 16 randomly selected cighth
graders from a certain school district averaged 87.8, test the null hypothesis p = 84.3
against the alternative p > 84.3 at the 0.01 level uf;;iln:_iifﬁn:nca

(f) A testing agency test 1000 tyres of A make and mtﬂwﬂ:ﬂﬂ of B make. The agency
finds that A make tyres give an average life of 31125 hours with a standard deviation of

i

4000 hotrs. The B make tyres gives an average of 31000 hours with a standard deviation

900 hours. ¢ there 3 significant difference between the two makes? Test the ahove

!
|

(200)

hypothesis at 5% level of significance
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|nst;u:1inn§ for Candidates

. Write your Roll No. on the top immediately on receipl
of this question paper.

i}

Attempt any 3 guestions

3. All guestions carry equal marks

|, Describe the consumer decision making model of imput
process and output. Discuss the factors that Increase

pre-purchase information search, (L3)

P.T.0O.
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You are gy established fashion designer of luxiry
Barments boutigue who is Venturing into a new ling of
sustainahble een-Triendly parments and accessories,
Meraki, which Will be available iy retail malls pergss
the country. These goods grg keeping in wiyl your
commitment of containing the carbion footprint of (ke
textile industry. Do You think it win impact the self
imape of Your current Customer base. Whay will he
Your marketing Strategy for altering or extending your
customers self-imge, What gains do YOu pereeive in

making ihis mayg for yogr brangd. {15}

Your friend jy starfing his business of Customized T-
shirts and swealshirts, The target morker for the
business arg college studengs; He ig currently starting
his operationy from Delhi, He has rented 5 shop in
Kamia Nagar in Brethi. He reafizes that there §s siir
competition in the markes. As i styden of marketing,

he has approached vou 1o desipn a poster for building

objectives? [15)

=T

.
7516 3

A% B consumer explain the effeq and yse of
behavioura) theories of learning, Dy YOU 389 consumer,
cunsciously or uncanscious]y undergy lenrning using
any of the behavioural theor ey (15)

Priyanka, is rhe marketing manager of Tasty Fouds
Limited which jx Eoing to introduee "Shakti’ ns brangd
of nutritious Chawanprash which contams essentin)
mgredients (o hoog Immunity and proyvide essential
vitaming 1o Increase metubolism and Inner strength, |
COMmEs i varioys wariants such as Tulsi, Ashwagandha,
Mulethhi gre, She neady o designa media plan whick
would help her reach the targel marke effectively,
Give a detailed media Plan she can yee, (15)

Write & short nole on any. three of the following
4} BAGMAR

(b MO

(e} Creative Brior

{d) Non E‘ompcnsamr_v Decision Rule [.§ X3

P.T.Q,
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7. Highlight the impartance of culture in comext of Indian
consumer. Explain the Use of culture by brands 1o

successfully sell their product. (13

(300}
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Why s the definition of Economic Growth inadequate?
Discuss the merits and demerits of traditional approach
of economic development, How do modern’ spproach
of economic development is more holistic in nature.

Eapluin.

How do steady state is determined in Solow model in
presence of technical progress and populstion
growth? Does it explain sustained rise in living
standard across countries? Explain with suitable

disgrams.

The fraction of income which is saved ond productivity
of capital are the key determinants of economie growth
in’ Harrod-Domar growth model? Describe, Explain
the concept of disguised unemployment with suitable

diagram,

How do rising level of inoquality is a major concern

in development process of developing countries?

T513A 3

B

Suggest various methods 1o reduce income

inequality,

What i5 the cause of gender diserimination in
education in developing countries? Explain the mysiery
of missing women in Asian countries in last few

decadies.

How do export led wrade policy acts as enging of
growth in less developing countries” Explain. Discuss
the different sources 1o finance the économic

developing in LDCs:

Write short notes on-any two

(1) Marker Failure
{ii} Disguised Unemployment

(iii) Technical Progress

P.T.Q,
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8. What is Government Failure? In less developed

cconomies there is possibility of occurrence of bath

government and markel failures Explain
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1. Case Siody

Tennifer is the director of an NGO that aids children
and families. She focuses on evaluating the skill building

programmes, the agency provides to families, She

P
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reporis directly 1o the agency leadership. mw
hﬂ been cautious in hiring this year because of
w:im for grant funding. mm; thoy

ﬂﬁl‘dw‘;,amiua.
driven and expects the




4
They feel like they are unable to
fF or solve problems without key.
departmentsl budget.

Jennifer most effectively use hoth
Ieadership skills in her role as &
ibution do you think would
ng? (5)
o

s give Jennifer for improving
and to the managers in

a |
N ' - "
2. Write a detailed note on theorics of learning? Explain
ow reiaforcement may be used as a managerial tool

for enhanced learning, (15)
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l. Smart Exports Lid. produces two products: X and Y-
The requirements and constraints related 1o their

Production are provided below:

P.T.O.
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yping clerk receives an .- I
daily for transeription. E
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(2} A firm purchases batehes of SO0 containers for a

quarter of the year. Each container has g price
tag of Rs. 125, and the cost to place an order
stands at Rs. 150, The estimated SIOTage expenses
(inventory carrying charge) are about 20% of the
individual container's price. Determine the gverall
costs of the current stock management strategy.
Alse, what potential savings could be realized by

tmplementing the optimal order quantity? {10}

{b} Explain the various sosts tssociated with in Ventory

manigement. (3)

(600)
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(1) Explain investment decision process. How does il
help investors o make sound imvesiment deciston?
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s yield of 13%, what is the
price he should be ready to pay




A

(8

l ual fund. Differentiate between apen
- ___"’&Hﬁ ﬂﬂdﬂd Eﬂ.ﬂdss m

o rate of 1§ percent per annum. This
‘expected to continue for 4 years.
the growth rate will fall 10 12 per cent
e next 4 years. Thereafter, the growth rate
4 mw‘ 1o be 6 per cent ﬁmﬁenr If the last
idend per share was Rs.2 and the investors'
required rate of retrn an Cordet's equity is 15
pr cent, wht i the ninse valoe pr shar?

(%)

() Descrive the procedare developed by Markowitz
for choosing the optimal portfolio of risky assets.
(7

3, () Assume that the fullgfji_iqk-holdu

Risk free rate; 7 percent




f

rwants 1o know the probability of the
under  different Tanges, ulate
abability of NPV under the following

Zero of less
than Zero

the range of m”zﬂhﬂ

((iv) Between the range of Rs 15 and Rs 30,
OR

The details of three portfolios are provided to

X
¥
Z
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